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—=. 1. are playing 2. doesn’t look
Does; do
What would

4. What; playing
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— . 1. quiet 2. kinds
3. other
5. Half

—.1.B 2.A 3.A 4.C 5.C

4. problem

=.1. twelve eggs
some bread and drink
three potatoes and five tomatoes

2.
3.
4. one kilo of fish and half a kilo of beef
5.

three boxes of apples and one bag of pears
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— . 1. lives 2. teaches
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—. 1. don’t; or

2. elephants; friendly
3. Does; have
4

. take the bus

=. 1. come true 2. put up
3. shouted at 4. get up
5. cut up 6. cut down
7. There is 8. shout to
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. 1. would like 2. four yuan a kilo
3. Whose is 4. favorite color
5. under the chair 6. How many
=, 1. is coming
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3. are; doing 4. Look
5. teaches 6. to join
7. goes 8. to go
9. to meet 10. is
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—.1. has; friend
2. What food does; like
3. ten past nine

4. How’s; weather

5

. How does

—..1. On the border between England and Wales.

N

2. Yes, they can.
3. Seven days.
4. In tents or in small houses in the park.
5. It’s often rainy.
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